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What is full name of LAN ?

(a) [ocal Area Network
(b) tocal App Network
(c) Iocal Application Network
(d) l.ocal Area Now

Which of the following is IEEE 802.5
protocol ?

(a) Token Bus

O) Token Ring
(c) Ethernet

(d) All of these

What is the full narne of CD in
CSMA/CD ?

(a) Compact Disk
(b) Compact Data

(c) CollisionDetection
(d) Collision Data

(ii)

wt? vw qffi t vi s#rra t dq or t t

All Questions are compulsory and each question is of I mark.

qHqmarf Cararat-i 61ffi #sidd agna?q,q{ 1

Only English version is valid in case of dffirence in both the languages.

l. LAN i5',r T(T 
qtIt qr t r

(a) FilscTqRqrir+#

O) ?il{-d\rcftT+
(c) Ht+-dqeerhmW
(d) *+-d qfrqr qrs

IEEE 802.5 f'rEr ii t +t{ sr ddfttf, t r
(a) *sfr Es

O) zls"frrr
(c) +r{+e
(d) srtff H!ft

csMA/cD il cP sr qtr crc wr t z

(a) *iltseflffi
(b) qffiesra
(c) friktr{Bflr
(d) +iftrersrsr

l.

7.
2.

J.
3.

(1) P.T.O.

l',',.-
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4. srcr ftrs'dm OSt model sfr +{ {fr
dzr t r
(a) I

(b) 2

(c) 3

(d) 4

frq jt t +t-{ sr sr{ srcr fus'tc{ Hr

rfit t
(a) ftfr,I
(b) \rcr q'?td

(c) wtd{H

(d) F{+lRsrr

FDDI in Wr +q wr t z

(a) Fiber Disributed Data

Interference

(b) Fiber Distributed Data lntErface

(c) Fiber Distributed Data

Interconnection

(d) Fiber Distributed Data

Interchange

fil{ it t fuT+tc{6l *tt sr sr{ iET

tr
(a) {rsfu'r

(b) qt:A6RI{

(c) GfYFr

(d) qd{H

porerdt-
(a) Internet Protocol

(b) Intranet Protocol

(c) lnternetPoint

(d) lnternet Program

7.

8.

(2)

Which number OSI
data link layer ?

(a) I

(b) 2

(c) 3

(d) 4

2t67

model layer is

Which of the following is not the

work of data link layer ?

(a) Framing

O) Error control

(c) Connection

(d) Encoding

What is the full fonn of FDDI ?

(a) Fiber Distributed Data

lnterference

O) Fiber Distributed Data Interface

(c) Fib€r Distributed Data

Interconnection

(d) Fiber Distributed Data

lnterchange

Which of the following is not a work
of network layer ?

(a) Routing

(b) Congestion

(c) Addressing

(d) Compression

IP stands for

(a) lnternet Protocol

(b) Intranet Protocol

(c) lnternet Point

(d) InternetProgram

4.

5.

6.

7.

8.
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s. frHii+st{{r v& rp qisroTtr
(a) 2t2.r23.r.2

(b) 123.123.123.r23

(c) 200.200.200.200

(d) 16.@.r28.2s6

10. ts2.t6'.t.tfu.swma;r le frist r
(a) A

(b) B

(c) c
(d) D

lt. rpv6qt{{ffiqr{affitz
(a) 4

o)8
(c) 16

(d) 32

12. Yil{}s qrs rrsftrr +tt m qeiftu{

{dqtd otcr t r
(a) Bellman Ford

O) Dijkastra

(c) Floyd Warshal

(d) sctt'fr crfr

13. rrwrdffid+r*fitt
(a) I

(b) 2

(c) 3

(d) 4

2167

Which of the following is not a valid

IP address ?

(a) 212.123.1.2

(b) 123.123.r23.r23

(c) 200.200.20a.200

(d) 16.64.t28.2s6

192.168.1.1 is an IP address of which

class ?

(a) A

(b) B

(c) c
(d) D

How many bytes are there in IPv6

address ?

(a) 4

o)8
(c) 16

(d) 32

Which algorithm is used by shortest

path routing ?

(a) Bellman Ford

(b) Ddkastra

(c) Floyd Warshal

(d) A1l of these

How many layers are there in Router ?

(a) I

(b) 2

(c) 3

(d) 4

P.T.O.

(3)

9.

10.

11.

12.

13.

a!



cs306nT306

14. hop by hop tst fr;wi tar t I
(a) IPv4
(b) IPv6

(c) TCP

(d) H'frit

15.

16.

18.

19.

17.

TCP t T4dFTq

(a) Transmission Control Protocol

(b) Transmission Control Point

(c) Transmission Control Program

(d) Transmission Content Protocol

frqffi( ii t dHff dT{ sil{ Hr sr{
*rfrtr
(a) rr#th$q
(b) o,,ifla rsrfirc +r+
(c) s-d +-*td
(d) Bq+ff s-ft

UDP ts-s rfi{trr d*+to t:
(a) sfuH silftds
(b) +,ffis
(c) arcc+s

(d) {Iftr*[{s,r

UDP EFr *o.rsq ffi f+aq,t tn t r
(u) 8

(b) 16

(c) 24

(d) 32

TCp i6r ts{ ffi +q t w Er{d $T

&nt z

(a) 16

(b) 20

(c) 40

(d) sbt$SftT

(4) 2167

Which header has hop by hoP ?

(a) IPv4

(b) IPv6

(c) TCP

(d) All of these

TCP stands for

(a) TransrnissionControlProtocol

(b) Transmission Control Point

(c) Transmission Control Program

(d) Transmission Content Protocol

Which of the following work is does

by hansport layer ?

(a) Multiplexing

(b) Connectionestablishment

(c) Flow control

(d) All of there

The type of UDP protocol is

(a) Connectionoriented

O) Connectionless

(c) Wireless

(d) All of these

The checksum of UDP is of how
many bits ?

(a) 8

(b) t6
(c) 24

(d) 32

The TCP header is of how many
minimum bytes ?

(a) 16

(b) 20

(c) 40

(d) None of these

16.

14.

15.

t7.

18.

t9.
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zo. rcp +t*vrq f+q,r€ Efikd *ar t t

(a) q+dHo
(b) gn Fgetr

(c) dt a t<fr+,

(d) 6tt + =rdi

2r. tia s}d} + tdq +t+ sr ffio mlc

ernr t:
(a) SMTP

o) PoP

(c) FTP

(d) H.fr

zz. FTqkfua ii +{ qr dtt mT t t
(a) .gov

O) .in

(c) .com

(d) .app

23. FrE{flaf€( it Et{ qr qd ${a +t} } I

(a) .in

(b) .uk

(c) .tp

(d) .Pak

24. HTTP t5I rklelGf -

(a) Hyper Text Transfer Protocol

O) HWer Text Transfer Program

(c) Hyper Text Transmission

Protocol

(d) Hyper Text

Progrart

(s) 2167

How TCP connection is established ?

(a) One way handshake

(b) Two wayhandshake

(c) Three way handshake

(d) None of these

Which protocol is used to send e-mail ?

(a) SMTP

(b) PoP

(c) FTP

(d) All

Which of the following is not a

domain ?

(a) .gov

(b) .in

(c) .com

(d) .app

Which of following is not a counry

domain ?

(a) .in

(b) .uk

(c) .tp

(d) .pak

HTTP stands for

(a) Hlper Text Transfer Protocol

(b) Hyper Text Transfer Program

(c) Hype" Text Transmission

Protocol

(d) Hyper Text

Program

Transmission

20.

2t.

22.

23.

24.

Transmission

P.T.O.



cs306/IT306

25. t{q it t slr {r t-+d Gs qtTt t
(a) abclZ3@yahoo.com

(b) xyz@gmail-cnm
(c) flipkart@123@gmail.com

(d) X21@yahoo.com

26. IEEE 802.11 fr;rt qqftro t I
(a) eurfrq 6
(b) sr+6Ar
(c) Er{rrts +{
(d) er{{*s a{

27. qqq qEFrd t r

(a) qilruas+{H&'

(b) qrereil{{+a
(c) F{tfu st{{€{r+e
(d) www w srrp

28.

29.

wiFi ESrca?rq -

(a) Wireless Fine
(b) Wireless Fidelity
(c) Wireless Find
(d) Wireless Finger

frq q t d{ qy qkAwH d+r +r
rffidrrttr
(a) FTP

&) sNrP
(c) PPP

(d) rMAP

Er+res +{ + frq Et{ qr kqrfi q,rc ti
tdtz
(a) !5{+€ qr{€

(b) {rirdR

(c) H
(d) qtlc

30.

(5) 2167

Which of the following is not an

email address ?

(a) abcl23@yahoo.com

(b) xyz@gmail.oom

(c) flipkart@123@gmail.com

(d) X21@yahoo.com

IEEE 802.11 is related with

(a) Wireless LAN
(b) Wired LAN
(c) Wireless MAN
(d) Wireless WAN

Bluetooth is related to

(a) Client and server

(b) Master and slave

(c) lnternet and Intranet

(d) WWw and HTTP

WiFi stands for
(a) Wireless Fine

(b) Wireless Fidelity

(c) Wireless Find

(d) Wireless Finger

Which of the following is not an
application layer protocol ?

(a) FTP

(b) SNTP

(c) PPP

(d) IMAP

Which dwice is used in wireless LAN ?

(a) Access point

(b) Router

(c) Gateway

(d) Modem

25.

27.

28.

29.

30.
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tsrftr6ffi eiE6,: 70

[Maximum Marks : 70

(2xs)

(6+6)

P.T.O.

(t) wrsw stWd; Yiry C C GEfrfl qfu#3ir.dFil? r

Question No. t is compulsory, answer any ftve questions from the remaining.

(ii) rdqnw+v,# q'n d iwrznr {eFwq aa +ffq{ r

Solve all parts of a question consecutively together'

(iii) vfi+ nw +) +d Yu C n ,aT dtw t

Start each question on afresh page-

(iv) qtit qwait C srarai'i 6? Md C ofriq?' aqarra? qa { 1

onty English version is valid in case of dffirence in both the languages.

(i) 1|cfr{ilri e{rcwtsqritl
What do you mean bY Error Confrol ?

(ii) Subnetting 6t qfu{lftffi dfiri r

Define the subnetting'

(iii) <r+*t rrd Enr lsi qr+ srd st*Ei *r{ fufirt r

Write any two tasks perfonned by Transport layer'

(iv) FTP iflwrsq+ttr
What is the use of FTP ?

(rr) IEEE 802.1 1 tq{ts frgu or qr sqdq t t
What is the use of access point in IEEE 802'l I ?

(i) sra ftr*,qrt t6a'- f<qrE{ T* 6t alr€fi sfrfiri r

Explain various design issues of Data Link layer'

(ii) 
"e*. 

t firqc'' glzr izrs'f€ ql-{6F ((rq'$*'qrt') +i qrerr{A t

Explain the fiber distribution data interconnect standard (FDDD.

(7)

16
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3. (i) sqlrfi 3Erfirr tsTke{ +€{{rsfurr dr sqHr{E I

Explain the distance Vector Routing with suitable example.

(ii) tpv+ tstqr fls-d€kd eul-{ dfqq r

Describe IPv4 Header with diagram. (6+6)

4. (i) 6+fl{ rtn upp ckhim e *,+ffH B{q TCp ctffi-d 61 +.ffi +l wrsrri r

Explain the working of connectionless UDP protocol and connection oriented

TCP protocol.
(ii) qk€a qro *faq tmfulsd *i qrsr+i r

1a) cg{#m P;ffifuflq (c) wr6frtizut
Explain the following for transport layer :

(a) Multiplexing O) Reliable delivery (c) Flow control (6+6)

s. (i) ttd{Frqffinfri{firsr+tqrsrtt t

Explain the role of following protocols in E-mail :

(a) PoP (b) H]TP (c) IMAP
(ii) dt+{ qrq qqrd C$q{q{r, d srsr{+ t

Explain domain name system (DNS). (6+6)

6. (i) qFrrts ffirr *'IBBB 802.11 qFr.Fgt sqqtrr {qsr{n I !

Explain the use of IEEE 802.11 standard in wireless networking.

(ii) q(q ils+r+t orffi q e[{rqlr si fufiKt qqsr{{ 
1

Explain in detail the working and application of Bluetooth Technology. (6+6)

7. (i) 3n$.++t 802.3 Err;r.r'CSMA/CD 6r fid{ Hkd q'tt{ dtqq r

Describe IEEE 802.3 standard CSMA/CD with diagram.

(ii) IPv4wIPv6*'anroisrrgr{+ t

Explain the advantages of IPv6 over IPv4. (6+6)

8. d&{HfrEffitufirn: C6tt*O
Write short notes on any three :

(i) dt$fi zr+qr miw
TCP Timer Manag€,ment

(i0 www flEn HTTP

WWW and HTTP
(iii) srcfdg da

Wireless LAN
(iv) rrra#mitn cffi€ : $sqqqc fr

Simple Network Management Protocol : SNMP (4+4+4)


